[3-CAS.S04.28] A pizza delivery company has purchased an automobile liability policy for its delivery
drivers from the same insurance company for the past five vears. The number of claims filed by the
pizza delivery company as the result of at-fault accidents caused by its drivers is shown below:

Year | Claims O(;fﬁ) . ( X - A—\) >
2002 4 | — |

2001| 1 | £ -ty

2000 3 L - g

1999 2 q — 17

1993 15 Yo, | 000

Calculate the skewness of the empirical distribution of the number of claims per year.
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